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I, ()  Explain the interrelationship between product or value
added. income generalion and expenditure method of

national income accounting. s
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Distinguish between national income at current prices

it

and national income at constant prices. 7'
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Explain the consumption function and saving function

and represent these relationships with the help of

diagram. 8
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Distinguish between Actual GDP and Potential GDP. 7
qrEafa® GDP W@ Wuifga GDP W IR WRBY |

Explain and illustrate the concept of Multiplier. Discuss
the leakages that occur in the operation of multiplier in

an economs. 8
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Caleulate the value of the multiplier if consumption

function is C = 50 - 0.5Y.

-1
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What is net export function ? What factors may cause

a shift in the net export function ? §
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Calculate the equilibrium level of income from the

following data :

C=100-075Y,
I = Rs. 160 crores
T - Rs. 40 crores
G = Rs. 60 crores

Also find out the new income level if govt. increases its

expenditure and tax by Rs. 20 crore. 7



(@)

(5) 1155
wE wioqq sderaEm & fAm ofwEl @ wqfew
TR & gieed ®ifag

SYHIT WeT (C) = 100 - 0.75 Y,
wEa fFEaw () - 160 FUS T
@ FL(T) - 40 FUS T
TER AT (G) - 60 FUS T

qfc derarn ¥ qEW FE T FL 20 FUS T
? 98 a1 & w9 "afem s w1 wftwed
w1

What is the nature of Short Run Aggregate Supply (SRAS)
curve 7 What is aggregate supply shocks 7 Explain the

factors responsible for aggregate supply shocks. 8
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(Y Why is the Long Run Aggregate Supply (LRAS) curve

vertical ? 7

TSR TR IR TE (LRAS) TR FE g

g2
(¢} Explain credit creation under : 10

() Single Bank Economy Model and

(i) Mulliple Bank Economy Model,

3
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(i) @G A% Hew yEned @ |
{y  Write a short note on 'Liquidity Trap'. 3
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“The equilibrium interest rate and real GDP is
determined by the synthesis of product and money

market.” Explain. 10
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What happens to equilibrium real GDP and rate of

interest when 1S and LM curve shift ? )

9 1S ad Ly ot o famwE g qe aa®
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Explain the meaning of Balance of Payment. What are its
components 7 Why is Balance of Payment important for
a country ? 9
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Write' short notes on any nve . §]
(/) Operating Surpius

(/)  Paradox of Thrifl

(itry  Inflationany Gap

(n)  Objectives of Monetary Policy
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